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Version 1

Ann is looking for a job. She submitted 100 job applications two weeks ago and is glad to receive two job offers yesterday.
Job 1 is working in a library, which pays $1500 a week and requires a commitment of 40 hours a week. Job 2 is working
in a restaurant as a waitress, which pays $1000 a week and requires a commitment of 25 hours a week. Traveling time
between Ann’s home and each job has been included in the “time commitment”. Ann asks her friend Bob for advice.
Bob gives the following analysis, which has been broken to small steps. All costs and benefits are measured in the unit

of dollars per week.

1. [4 marks] Ann has two options, accepting Job 1 and accepting Job 2. (Doing both jobs is known to be impossible.)

2. [6 marks] Cost and benefit analysis for Job 1. The benefit is $1500 a week. The cost is the best alternative, which
is Job 2 valued at $1000 a week. Therefore, the net benefit (benefit minus cost) of Job 1 is $500.

3. Cost and benefit analysis for Job 2. The benefit is $1000 a week. The cost is the best alternative, which is Job 1
valued at $1500 a week. Therefore, the net benefit (benefit minus cost) of Job 2 is —$500.

In conclusion, Bob advises Ann to accept Job 1 immediately.
For each step, indicate whether you agree with the step. If you do not, state your reasons. (There is no marks attached

to Step 3, as it should be correct if Step 2 is and wrong for the same reason if Step 2 is wrong.)
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There are four dealers of Toyota cars in Canberra. Daniel, a student who does not know economics, finds that all four
dealers sell the base model of “Corolla Cross” (a particular kind of car) at the same price. He then went to search for the
price of the same car in other cities such as Sydney and Melbourne, and the Toyota dealers in those cities all sell the car
at that same price. Puzzled by this finding, Daniel asks his friends Bob and Chris, who claim that they know economics,

for explanations.

Bob [5 marks] All dealers of “Corolla Cross” compete in the same perfectly competitive market and therefore they must

all set the same price of the car due to competitive pressure.

Chris [5 marks] Bob’s explanation is invalid as he did not define the boundary of the “market” correctly. There is no
reason to single out a particular car model. One should treat all passenger cars as the same good and use demand
and supply theory of the good (“passenger car”) to find the right market price. It turns out that the price range of

a passenger car is very wide, so the market of passenger cars is far from perfectly competitive.

Evaluate Bob’s and Chris’s views.
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Alice, Bob and David are all shopping for a new car. (They are independent of each other; in other words, they are not
buying a car together.) After some search, they all identify a particular car model as their ideal choice. Now they need
to make their final decisions: whether to buy the car. In order to make this decision, each person needs to evaluate their
cost of buying the car. (They also need to evaluate the benefits, but we focus on costs in this question.) Note that the
price of the car, $30000, is the same for the three potential buyers and there is no shortage of supply for the car.

Alice and Bob both have enough cash in their savings accounts (bank accounts) to buy the car. David does not have

enough cash. If David decides to buy the car, he has to take a loan.

(a) [6 marks] Chris argues that a dollar is a dollar and therefore the cost of the car is the same for all three potential
buyers. Elizabeth disagrees and argues that David would also need to pay interest on the loan and therefore the car

is more costly for David. Evaluate their views.

(b) [4 marks] Alice’s second choice is a car costing $35000 and Bob’s second choice is a car costing $25000. Based on
these facts, Frank conclude that Alice’s opportunity cost is $35000 and Bob’s opportunity cost is $25000. Evaluate

this view.




